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Question Number : 1 Question Id : 59537162 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Sé Cathedral church is located in
Options:

1. Goa

2. % Kerala

3. ¥ Mumbai



4. # Pondicherry

Question Number : 2 Question Id : 59537163 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Who among the following was a famous Sarangi Player?
Options :

1. Ustad Sabri Khan

2. % Ustad Amjad Ali Khan

3. #* Raja Ram Kumar Varma

4. *# Md. Kabir Khan

Question Number : 3 Question Id : 59537164 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

When was Jehangir Art Gallery, Mumbai established?
Options :

1. % 1949

2. # 1950

3. ¥ 1951

4. % 1952

Question Number : 4 Question Id : 59537165 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

In which of the following places, in 1942, Mahatma Gandhi was under “house arrest” for 21

months?

Options :

1. % Aga Khan Palace

2. % (Citi Place

3. ¥ Chowmahalla Palace

4. * Falaknuma Palace



Question Number : 5 Question Id : 59537166 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

What was the name of the operation in which Sardar Patel could convinced the Nizam of

Hyderabad to merge princely state of Hyderabad with India?
Options :

1. # Operation Jacob

2. ¥ Operation Sunshine

3. % Operation Polo

4. % QOperation Rainbow

Question Number : 6 Question Id : 59537167 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

In which of the famous Indian buildings did the 1945 Indian National Army (Azad Hind Fauj) trials

take place?

Options :

1. % Birla House

2. ¥ Red Fort

3. * Kolkata Town Hall

4. % Golconda Fort

Question Number : 7 Question Id : 59537168 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Which of the following states is the largest producer of jute?
Options :

1. ¥ West Bengal

2. ¥ Karnataka

3. * Kerala

4. ®# Manipur

Question Number : 8 Question Id : 59537169 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No

In which of the following states Bandipur Tiger Reserve And National Park located?
Options:

1. # Rajasthan

2. ¥ Karnataka

3. ¥ Tamil Nadu

4. # Chhattisgarh

Question Number : 9 Question Id : 59537170 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Deekshabhoomi stupa is located in
Options :

1. # Bhubaneshwar

2. * Varanasi

3. # Patna

4. ¥ Nagpur

Question Number : 10 Question Id : 59537171 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

What was the winning bid amount, that TATA Company offered to the government to acquire Air
India?

Options:

1. % 180 billion rupees

2. * 280 billion rupees

3. #* 200 billion rupees

4. % 150 billion rupees

Question Number : 11 Question Id : 59537172 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Which of the following department deals with all matters relating to the management of the



Central Government investments in equity including disinvestment of equity in Central Public

Sector Undertakings?

Options :

1. ® Department of Investment and Public Accession Management
2. # Department of Asset and Public Disinvestment

3. ¥ Department of Investment and Public Asset Management

4. # Department of Disinvestment and Public Asset Management

Question Number : 12 Question Id : 59537173 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

In the month of July 2021, who among the following took charge as the Minister of State in the

Ministry of Finance?
Options :

1. ®¥ Rameshwar Kumar
2. ¥ Bhagwat Karad

3. # Anurag Thakur

4. # )yotiraditya Scindia

Question Number : 13 Question Id : 59537174 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Which section of the Indian Penal Code deals with Cheating and Dishonestly inducing delivery of
property?

Options :

1. ¢ Section 420

2. # Section 470

3. ® Section 455

4. ¥ Section 320

Question Number : 14 Question Id : 59537175 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No



When was The Children (Prohibition of Labour) Act passed?
Options:
1.+ 1986
2. #1987
3. # 1988

4. % 1989

Question Number : 15 Question Id : 59537176 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

When the Supreme Court of India came into being after India becoming the Sovereign Democratic
Republic?

Options :

1. # 8th of March, 1947

2. ¥ 19th of February, 1950

3. # 26th of January, 1950

4, + 28th of January, 1950

Question Number : 16 Question Id : 59537177 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

How many oxygen atoms are there in one single molecules of Ozone?
Options :

1. * Four atoms

2. ¥ Three atoms

3. ¥ Six atoms

4. % One atom

Question Number : 17 Question Id : 59537178 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Optical Fiber works on the principle of

Options:



1. * Total Interior Reflections
2. ¥ Total Internal Reflections
3. # Total Core Reflections

4. # Total Internal Replications

Question Number : 18 Question Id : 59537179 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

The resistance of a fluid (liquid or gas) to a change in shape, or movement of neighbouring

portions relative to one anotheris called ____
Options :

1. " Viscosity

2. ¥ Density

3. * Gooeyness

4. % Concentration

Question Number : 19 Question Id : 59537180 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

How many total atoms are there in a Glucose molecule?
Options :

1. % 26

2.9 24

3. % 22

4. % 28

Question Number : 20 Question Id : 59537181 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Which of the following journalist won the Nobel Peace Prize, 2021?
Options :

1. % Dmitry Muratov

2. % David W.C. Macmillan



3. #* Ardem Patapoutian

4. % Abdulrazak Gurnah

Question Number : 21 Question Id : 59537182 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Who was the First Woman Chairperson of the State Bank of India (SBI)?
Options :

1. # Chanda Kochhar

2. ¥ Arundhati Bhattacharya

3. # Anshula Kant

4. % Chitra Ramkrishna

Question Number : 22 Question Id : 59537183 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

When was National School Of Drama established?
Options:

1.9 1959

2. % 1960

3. % 1961

4. % 1962

Question Number : 23 Question Id : 59537184 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Who among the following athletes has NOT received Khel Ratna in 20207
Options:

1. # Rohit Sharma

2. * Vinesh Phogat

3. #* Manika Batra

4.+ Jasprit Bumrah



Question Number : 24 Question Id : 59537185 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

In 2020, who assumed the office of the International Cricket Council as the Chairman?
Options :

1. # Zaheer Abbas

2. * N. Srinivasan

3. ¥ Greg Barclay

4. % Shashank Manohar

Question Number : 25 Question Id : 59537186 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Which of the following companies was in news related to the trouble with the new income tax (I-T)
e-filing portal?

Options :

1. ¢ Infosys

2. ¥ Tata Consultancy

3. * Accenture

4. # Capgemini

Question Number : 26 Question Id : 59537187 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

In 2021, who succeeded Ravi Shankar Prasad as the Electronics and Information Technology
minister?

Options :

1. % Ashwini Vaishnaw

2. # Hardeep Singh Puri

3. * Raj Kumar Singh

4. # Mansukh L. Mandaviya

Question Number : 27 Question Id : 59537188 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No

In the month of September 2021, which of the following politicians joined All India Trinamool

Congress (TMC) party after resigning from Bhartiya Janata Party (BJP)?
Options :

1. % Babul Supriyo

2. * Arpita Ghosh

3. # Kanta Majumdar

4. % TapanSikdar

Question Number : 28 Question Id : 59537189 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Which of the following states is known for its Dhola-Maru epic love story?
Options:

1. # Madya Pradesh

2. % Uttar Pradesh

3. ¥ Rajasthan

4. ¥ Chhattisgarh

Question Number : 29 Question Id : 59537190 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Famous "Jawala Ji Temple" is situated in which of the following states?
Options:

1. # Uttar Pradesh

2. * Gujrat

3. ¥ Himachal Pradesh

4. % Karnataka

Question Number : 30 Question Id : 59537191 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Which of the following dances was introduced in the 15th century A.D by the great Vaishnava saint



and reformer of Assam?
Options:

1. * Bihu Dance

2. # Jhumar Dance

3. * Bagurumba Dance

4. + Sattriya Dance

Question Number : 31 Question Id : 59537192 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Kakori Conspiracy, also called Kakori Conspiracy Case or Kakori Train Robbery took place in which

of the following years?
Options :
1. % 1923
2. % 1924
3.4 1925

4. % 1926

Question Number : 32 Question Id : 59537193 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Who was appointed Managing Director (MD) and CEO of ICICI Bank after Chanda Kochhar quit the

bank?

Options :

1. * Rajnish Kumar
2. ¥ Sandeep Bakhshi
3. ¥ Rana Kapoor

4. % Paresh Sukthankar

Question Number : 33 Question Id : 59537194 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

When was the Bengal Sati Regulation, which banned the Sati practice in all jurisdictions of British



India passed?
Options:
1.4 1829
2. # 1864
3. #1902

4. % 1918

Question Number : 34 Question Id : 59537195 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Deficiency of which of the vitamins can cause bruising and excessive bleeding problems?
Options:

1. % Vitamin K

2. % Vitamin B-12

3. # Vitamin D

4. = Vitamin C

Question Number : 35 Question Id : 59537196 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Which of the following is a parasitic infection caused by the tapeworm species?
Options:

1. * Mononucleosis

2. ¥ Taeniasis

3. #* Meningitis

4. % Giardiasis

Question Number : 36 Question Id : 59537197 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Who among them was a former president of the Congress party's women's wing joined the

Trinamool Congress in August 20217

Options:



1. # Dr. AmeeYajnik
2. % Ranee Narah
3. #* Chhaya Verma

4. ¥ Sushmita Dev

Question Number : 37 Question Id : 59537198 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

What was the distance of Neeraj Chopra's best throw which helped him to win historic gold at the
Olympics in 2021?

Options :

1. % 85.50 m

2.4 87.58m

3. % 86.61m

4. % 88.88m

Question Number : 38 Question Id : 59537199 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

How many T20 teams were there in first IPL (Indian Premier League)?
Options :

1.+ 8 Teams

2. ¥ 9 Teams

3. * 10 Teams

4, % 11 Teams

Question Number : 39 Question Id : 595371100 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

In the month of September 2021, who among the following took oath as Deputy Chief Ministers of
Punjab?

Options :

1. % Sukhjinder Randhawa



2. * Inderbir Singh Bolaria
3. ¥ Rajendra Prakash Soni

4. ® Tarsem Singh

Question Number : 40 Question Id : 595371101 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

How many seats YSR Congress Party won in Zilla Parishad Territorial Constituencies election

(ZPTCs) held in September 2021?

Options :
1. % 515
2. ¥ 505
3. # 501
4, % 498
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Clear Response: Yes
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Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 595371102 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No

The following sentence has been split into four segments. Identify the segment that contains a

grammatical error.

A guarded approach / is needed / for restrict / another wave of any pandemic.
Options :

1. % A guarded approach

2. ¥ is needed

3. ¢ for restrict

4. # another wave of any pandemic.

Question Number : 42 Question Id : 595371103 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

The following sentence has been split into four segments. Identify the segment that contains a

grammatical error.

It has been observed that online education / system has / several drawbacks / in addition to

challenge.

Options :

1. * It has been observed that online education
2. ¥ system has

3. ¥ several drawbacks

4.+ in addition to challenge.

Question Number : 43 Question Id : 595371104 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Four statements are given, labelled A, B, C and D. Among these, three statements are in logical
order and form a coherent paragraph. From the given options, select the option that does NOT fit

into the theme of the passage.

A) Pollution caused by vehicles is still on rise.



B) Using public transport is a good alternative.
C) Effective management of financial facilities will always serve the best.

D) Personalizing comforts creates many problems.
Options :

1. % A

2. # B

3.¥C

4. % D

Question Number : 44 Question Id : 595371105 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Four statements are given, labelled A, B, C and D. Among these, three statements are in logical
order and form a coherent paragraph. From the given options, select the option that does NOT fit

into the theme of the passage.

A) Singing birds is a natural treasure for the mankind.
B) Songs have always inspired life on the earth.
C) Birds sing to attract their mates or for merriment.

D) Music of trumpets at war-field stands significant.
Options :

1. % A

2. % B

3.% C

4.+ D

Question Number : 45 Question Id : 595371106 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Four statements are given, labelled A, B, C and D. Among these, three statements are in logical
order and form a coherent paragraph. From the given options, select the option that does NOT fit

into the theme of the passage.

A) An open economy is not good all the time.



B) Online shopping is comfortable for many.
C) This trend has influenced the local markets.

D) Commercial e-companies earn large profits due to this.
Options :

1.¥A

2. # B

3.% C

4. % D

Question Number : 46 Question Id : 595371107 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Select the most appropriate option to fill in the blank.

Tip-offs help police manyatimeto___ criminals.
Options :

1. # forget

2. * suspend

3.¥ nab

4. * shelve

Question Number : 47 Question Id : 595371108 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Select the most appropriate option to fill in the blank.

is one activity that creates global harmony.
Options :
1. #¥ Railways
2. ¥ Sports
3. ®* Economy

4. * Mining



Question Number : 48 Question Id : 595371109 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Select the most appropriate option to fill in the blank.

A larger network of banks can helpto ___ the habit of saving money.
Options :

1. * regret

2. ¥ develop

3. * invest

4, % earn

Question Number : 49 Question Id : 595371110 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Select the most appropriate option to fill in the blank.

Autism is a serious developmental disorder that___ the ability to communicate and interact.
Options:

1. * prospers

2. % improves

3. * pairs

4. ¥ impairs

Question Number : 50 Question Id : 595371111 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Select the most appropriate ANTONYM of the given word.

Clumsy
Options :

1. % Orderly
2. % Angry
3. ¥ Shabby



4, # Creaky

Question Number : 51 Question Id : 595371112 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Select the most appropriate ANTONYM of the given word.

Admirable
Options :
1. % Execrable
2. % Poor
3. ¥ Kind

4, * Generous

Question Number : 52 Question Id : 595371113 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Select the most appropriate ANTONYM of the given word.

Nauseous
Options :

1. # Sickening
2. * Terrible
3. ¥ Pleasant

4. * Horrible

Question Number : 53 Question Id : 595371114 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Select the most appropriate SYNONYM of the given word.

Flexuous
Options:

1. % Straight



2. ¥ Bending
3. * Disciplined

4. * Controlled

Question Number : 54 Question Id : 595371115 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Select the most appropriate SYNONYM of the given word.

Flaring
Options :

1. ¥ Jealous
2. ¥ Bright
3. % Cozy

4. # Subdued

Question Number : 55 Question Id : 595371116 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Select the most appropriate meaning of the given idiom.

High and dry
Options :

1. % Abandoned
2. % Hot summer
3. % Hot winter

4. * Joyous

Question Number : 56 Question Id : 595371117 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Select the most appropriate meaning of the given idiom.

To turn a deaf ear



Options :

1. ®# To turn to someone
2. * To appreciate

3. ¥ To disregard

4. # To expect something

Question Number : 57 Question Id : 595371118 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Select the most appropriate meaning of the given idiom.

To carry the day

Options :

1. ¥ Reach home in a pleasant way
2. ¥ To win after a long effort

3. ¥ To lose a battle

4. % To enjoy a situation

Question Number : 58 Question Id : 595371119 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Select the option that can be used as a one-word substitute for the given group of words.

One who pretends to be what he is not
Options :

1. % Mimic

2. ¥ Hypocrite

3. # Actor

4. % Clown

Question Number : 59 Question Id : 595371120 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No



Select the option that can be used as a one-word substitute for the given group of words.

One who talks in one's sleep
Options :

1. * Patient

2. ¥ Somniloquist

3. * Sensible

4. * Epicure

Question Number : 60 Question Id : 595371121 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Select the option that can be used as a one-word substitute for the given group of words.

Not planned ahead of time
Options :

1. % Impromptu

2. * impulsive

3. # Precipitate

4. * Swift

Question Number : 61 Question Id : 595371122 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Select the option that can be used as a one-word substitute for the given group of words.

An instrument for measuring the pressure of gases
Options :

1. ¥ Nanometer

2. # Barometer

3. ¥ Manometer

4. * Thermometer



Question Number : 62 Question Id : 595371123 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Identify the segment in the sentence, which contains a grammatical error. If there is no error,

select 'No error'.

The destruction of Bamiyan Buddhas / was ordering in 2001 / by the Taliban regime. / No error
Options :

1. * The destruction of Bamiyan Buddhas

2. ¥ was ordering in 2001

3. * by the Taliban regime.

4, % No error

Question Number : 63 Question Id : 595371124 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Four segments in the sentence have been underlined. Identify the one which is NOT correct.

The detective said that he believe what the witness had told him.
Options :

1. * said

2. ¥ believe

3. # what

4. * had told

Question Number : 64 Question Id : 595371125 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Select the most appropriate option to fill in the blank.

Now that the lockdown is over, people are ready one again.
Options :
1. # travel

2. # traveled



3. % to travel

4. % travelling

Question Number : 65 Question Id : 595371126 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Select the most appropriate option to fill in the blank.

After the Covid people like to travelin___ own vehicles.
Options :

1. % his

2. ¥ their

3. * our

4. % her

Question Number : 66 Question Id : 595371127 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Given below are jumbled parts of a sentence. Select the option that gives a grammatically

CORRECT meaningful sentence.

does / without/ Avika / not / milk / Bournvita / drink
Options :

1. * Milk does not drink Avika without Bournvita.
2. ¥ Avika does not drink milk without Bournita.

3. * Without milk does not Avika drink Bournvita.

4. * Drink milk without Bournvita does not Avika.

Question Number : 67 Question Id : 595371128 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Four statements are given below, labeled A, B, C, and D. Among these, three statements are in
logical order and form a coherent paragraph. From the given options, select the option that does

NOT fit into the theme of the passage.



A. The urban population of India is expected to double in the next 15 years to reach a level of 350-
400 million.

B. India is losing 10 percent of its national income because of environment degradation.

C. At present, 20-33% of the urban population lives in slums without basic facilities.

D.The employment crisis precipitated by increasing urbanization and migration is expected to be a

major problem in the decades ahead.
Options :

1. % A

2.¥ B

3.%C

4. % D

Question Number : 68 Question Id : 595371129 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Select the most appropriate option to fill in the blank.

__ thetelephone rang, I rushed to attend to it.
Options:

1. # In order that

2. #® So far as

3. #* Aslong as

4. % As soon as

Question Number : 69 Question Id : 595371130 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Select the most appropriate option to complete the sentence.

She is not able to sing properly of late as
Options :

1. #* her phone seems to be out of order.



2. # her parents have gone for a vacation.
3. ¥ she picked up throat infection sometime ago.

4. * the long jump was very difficult.

Question Number : 70 Question Id : 595371131 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Select the most appropriate SYNONYM of the given word.

LUSCIOUS
Options :
1. ¥ nutritious
2. * luminous
3. ¥ delicious

4. * infectious

Question Number : 71 Question Id : 595371132 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Select the most appropriate SYNONYM of the given word.

EXCRUTIATING
Options :

1. % acute

2. * endurable
3. ¥ soothing

4. % pleasant

Question Number : 72 Question Id : 595371133 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Select the option which is NOT an ANTONYM of another word by way of adding the prefix ‘in-'.

Options:



1. * ineffective
2. ¥ infiltrate
3. * infinite

4. # inhospitable

Question Number : 73 Question Id : 595371134 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Fill in the blank with the most appropriate phrase.

My friend ____ at my place whenever she feels bored.
Options:

1. * drops out

2. ¥ dropsin

3. ¥ drops off

4. # drops away

Question Number : 74 Question Id : 595371135 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Select the most appropriate meaning of the given idiom.

wash your dirty linen in public
Options :

1. * threaten someone openly

2. ¥ use illegal means to earn profits
3. ¢ discuss personal matters publicly

4. # deny to pay back your loan

Question Number : 75 Question Id : 595371136 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Select the most appropriate word for the given group of words.



an official count or survey, especially of a population
Options:

1. * chronology

2. ¥ genealogy

3. ¥ census

4, ®# demography

Sub-Section Number : 2
Sub-Section Id : 5953717
Question Shuffling Allowed : Yes

Question Id : 595371137 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No

Question Numbers : (76 to 80)

Read the following passage carefully and answer the given questions.

The decade of the 1970s stands out as the most tumultuous period in India in terms of inflationary
uncertainty, witnessing very high inflation mainly driven by the supply shocks emanating from
agricultural and oil prices. For the first time since independence, inflation overshot the level of
20% in 1973-74 and 1974-75 (25.2%). Reflecting the first overshot of 1973, the import price deflator
surged by 43.0% and 72.8% during 1973-74 and 1974-75 respectively. In line with the sharp
increase in average international crude oil prices by over 250% in 1974, domestic fuel prices
increased sharply from an annual average of about 26.5% on average during the last three years
beginning 1973-74. It was plainly observed that similar situations led to reappearance of high

inflation in 1979-80.

Sub questions

Question Number : 76 Question Id : 595371138 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
What was the fundamental cause of inflation during 1970s?
Options:

1. # Rising demand of food



2. # Civil war
3. ¥ Political upheaval

4. ¥ Shocks from agricultural and oil prices

Question Number : 77 Question Id : 595371139 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

What is the meaning of the word ‘tumultuous’ used in the given passage?
Options :

1. * Prosperous

2. ¥ Turbulent

3. ¥ Peaceful

4. % Convincing

Question Number : 78 Question Id : 595371140 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

What was the year of highest inflation during the 70s?
Options :

1. % 1973-74

2. ¥ 1974-75

3. # 1980-81

4. % 1972-73

Question Number : 79 Question Id : 595371141 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Domestic fuel prices began their upward surge from the following year. Choose the CORRECT
option.

Options:

1.9 1973-74

2. % 1974-75

3. # 1980-81

4. # 1972-73



Question Number : 80 Question Id : 595371142 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

When did the inflation reappear?

Options :
1. % 1970-71
2. % 1973-74
3. % 1974-75
4.+ 1979-80
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Question Number : 81 Question Id : 595371143 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Select the option that is related to the third word in the same way as the second word is related to the first word.

Pressure ; Pascal ;; Power : ?

Options :



1 % Energy
2 % Joules
3« Watt

4. % Newton

Question Number : 82 Question Id : 595371144 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Which of the answer figures is the exact water image of the given problem figure?

ey

A\

Question Number : 83 Question Id : 595371145 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No



Five friends A, B, C, D and E are sitting in a row facing north, such that C is on the right of A and B is on the left of
D, who is on the left of A and B is on the right of E, then who is sitting at the center?

Options :

1. % A

Question Number : 84 Question Id : 595371146 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Two positions of the same dice are given below. Which number should be there on the face opposite to face having

mumber 1?

Options :
1.% 3

Question Number : 85 Question Id : 595371147 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No

Which of the following figures completes the pattern of the given figure? (Rotation is allowed)

%

Options :

1.9

2. %

I
2
S

4. ®

Question Number : 86 Question Id : 595371148 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No



Select the option figure in which the given figure is embedded (Rotation is allowed).

Z

2.

e,
4. %

Question Number : 87 Question Id : 595371149 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Four figures are given of which three are alike in some way and one is different. Choose the odd one out.

Options :

1.¢



=
|02
&

Question Number : 88 Question Id : 595371150 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

The average mass of 20 bricks increases by 0.5 kg when a stone is placed in place of one of the bricks having mass 3

kg. What might be the mass of the stone?
Options :

1% 3k

3 % 9kg



Question Number : 89 Question Id : 595371151 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Select a suitable figure from the answer figures which would replace the question mark (?) in the given figure series.

&

Options :

1. % .
&

©
&

4, % .

Question Number : 90 Question Id : 595371152 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No



If in a certain coding language ‘BASEBALL’ is written as “CBTEBBMM’, and ‘FOOTBALL' is written as
"GPPTBBMM, then how will ‘CHAMPION' be written in that coding language?

Options :
1. ® DIBNPIPO

» « DIBMPJIPO

3. % DIBPMIPO

4. % DIBMPION

Question Number : 91 Question Id : 595371153 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Given below are three statements and three conclusions, Take the statements and conclusions to be true even if they

are at variance with commonly known facts and decide whether the conclusion’s follow(s) the given statement.
Statements:

L All aircrafts are helicopters.

I1. Some helicopters are jets.

1. All jets are rockets.

Conclusions:

1. Some rockets are helicopters.

I1. Some jets are aircrafts.,

1. Some helicopters are aircrafts.
Options:

1 % Only conclusions I and II follow

5> % Only conclusions II and III follow



3. « Only conclusions I and III follow

4. % None of the conclusions follow

Question Number : 92 Question Id : 595371154 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Select the pair that has the similar relationship between the two words of the pair as between the words in the

following pair.

Pen : Write

Options :

1. # Binocular : Far
> % Oar: Grip

3.« Shield : Guard

4. % Gun: Iron

Question Number : 93 Question Id : 595371155 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Four words are given of which three are alike in some way and one is different. Choose the odd one out.
Options :

1. % Dinar

2. % Dollar

3.« Doha

4. % Dirham



Question Number : 94 Question Id : 595371156 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Three positions of the same dice are given. What will be the digit on the face opposite fo the face having digit 5?

Options :

1. % 1

I

Question Number : 95 Question Id : 595371157 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No



Following are the criteria to recruit a Staff Manager in a company.

Required qualifications for Staff Manager in ABC company:

) Bachelor’s degree from a recognised university with minimum 80% aggregate marks.

i) Maximum age of 35 years on | September 2021.

i) At least 4 years of experience in managing staff in any recognised private or government company.
iv)  Fluent in English and Hind1.

If a candidate satisfies all the aforementioned criteria, EXCEPT:

a)  at(i)above, but has completed Master’s degree with minimum 75% aggregate marks, his/her case is to be
referred to the HR.

b)  at(iil) above, but he/she has a 6 years of work experience in the field of management, his/her case is to be
referred to the CEO.

Consider the details of a candidate and select one of the following courses of action based on the information
provided and the conditions and sub-conditions given above,

Ankit will turn 36 vears on 4 September 2025. He did his Bachelor’s in the required field from a central university
with 78% aggregate marks. He has a Master’s degree in the field of management (MBA) with aggregate 65%
marks. He has worked in a government recognised company for § years. He is fluent in English, Hindi and the local
language.

Options :

1. ®# The candidate is to be selected.

2. % The case is to be referred to the HR.

3. % The case is to be referred to the CEO.

4. + The candidate is not to be selected.

Question Number : 96 Question Id : 595371158 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Which of the option numbers will replace the question mark and completes the given number series?

12, 23,43, 81, 155,17
Options :
1. % 298



> % 299

Question Number : 97 Question Id : 595371159 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Select a suitable figure from the answer figures which would replace the question mark (?).

@ :

Options :

4. %



Question Number : 98 Question Id : 595371160 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Select a suitable figure from the answer figures which would replace the question mark (?).

@ $ |f @ | & ¢ % &
# & % $ ?
% &1|$ % | @ $|# @
Options:
S @
%
1. ® * ¥
$ %
by
& @
2. %
@ %
$
3. % & i
$ %
@
& #
4.



Question Number : 99 Question Id : 595371161 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Choose from the given four options, the conclusion/s which logically follows from the given statement.

Statement: The role of playing with other humans is crucial for the mental, emotional as well as physical

development of children at least till their first two years of life.
Conclusions:

1. Parents must actively involve themselves in playing with their children.

2. The caretakers of the children must homeschool their children for at least first five vears of their life.
Options :
1« Only conclusion I follows
5> % Only conclusion II follows

3. ®% Either conclusion I or IT follows

4. % Both conclusions I and II follow

Question Number : 100 Question Id : 595371162 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No



Given below are three statements and four conclusions. Take the statements to be true even if they are at variance
with commonly known facts and decide whether the conclusion/s follow the given statements.

Statements:

[ Some lions are chimpanzees.
I1. Some deers are chimpanzees.
IIL. All chimpanzees are tigers.
Conclusions:

I. Some lions are tigers.

I1. Some tigers are deers.

II1. Some lions are deers.

IV. Some tigers are chimpanzee.

Options :

1 % Only conclusion IV follows

5 « Only conclusions I, II and IV follow

3. # Either conclusion I or IV follows

4. % None of the conclusions follow



